Best model for HELP_J143029.909+333618.240 at z = 1.311 x%>=0.68
OPTx?=0.68 IRx?=1.06 threshold (OPT IR)=18.49 [um]

2 =
10 Stellar attenuated
i = e Stellar unattenuated
1 . —— Dust emission
10 3 . —— AGN emission
] . = Model spectrum
1 : ® Model fluxes
100 E : M oObserved fluxes
>
E\ 10—1 4
fr""ﬂ’ﬂ./
é E""!{M"“"‘""'N-wf‘ A ‘\
= -2
=210
10—3 4
10—4 .
bad
=}
—
= ==f=(Obs-Mod)/Obs
=}
S
n
0 O0+FMN=tfxld- e ———se—pt e e = -
o ]
g ]
5 ]
o -1 H CIGALE
]
[a'd

10° 10! 102 103 10% 10°
Observed wavelength [um]



